R HERAS

AUTO POWER MACHINERY CO., LTD.

VRIS 24 "! L
OVERLOAD PROTECTOR



AU IO FOWER MAGCHINERY G L1 D

J

Overload Pmtector)

Cylinder Hydraulic piping

Overload protector
Air solenoid(NC)
= /& ) |
= - e P et o

87 /78| I witn

Ailr regulatnr
Air supply

1 . s
: e — L =
N $i ] =$ H———
=S a SetmR w R - g B EO ! () I i
T - . r_ == =T ) i : ‘$| = I$
- :—_l—l—E|_—_" --—__-IW_— -__—Lﬁ_l_:‘ —l @ —

Fllnﬂl;iﬂn)
o B fof PR e A S R > FH DU i vvf 9 b R R AL SR R IR ) > 5 v DA b R o 0 BT FE B By - PR 260 v
AT 53 Z =R I SLZ R -

AL B Z N OCRE » b i PR Gy o PR el o 15F 8 H SRV » A7 05 A PR A4S el o DGR3 i PRI
B -

B T [ D0 AR AR 1R - 8 B e T AR B T ST 2 il R e PR R AR e 3 2 IR LRI ) o PRAEIE S AESE -
i B uf PR 5% AT 3 4T — TR BRI - mTRBR AR 2 I R B rfr » DRI BT At g R ) T2 5% -

Overload protector is equipped in press machine to check the hydraulic pressure of cylinder inside the slider.
If happen overload, the hydaulic pressure of cylinder will be released innediately within 3/1000 seconds.

When happen overload, in order to protect the press and die, the press will stop working immediately after
receiving the signal from limit switch.

After happen overload, the air will drive hydraulic pump to supplement normal working pressure immediately
and the press can work normally.

It has pressure control valve inside of overload protector, which can adjust hydraulic pressure automatically
and eliminate the impact of rising pressure in pressing process.

0L038S OLIZ2S
OLO3A OLI12Z2A

0l

hitp: //www.autopower8.com

ﬂ%ﬁ' {% %‘ZE OVERLOAD PROTECTOR

EEE T Model Selection) OLI1/|2(|3||4|—-|5| |6

2
tghﬂ&*é%f

g T YRR A

D POWER MACHINERY CO., LID

1 S

Suitable for capacity of press

06: 200 tons & down
08: 200 tons & down
12: 200~600 tons & down

9 {722l /7 =X A: Air pressure control

Control type S: Spring adjust

Vs

3 S ex107 or 707. .. .
4 A e Rl Empty:First edition

Design No. A~Z: Revise edition
B i Bl R )3 e i A Model:None

Pressure setting S Model: ex.[300]is 300Kgf/cm?

5 (HIFE 7% i
Control type

O:None 1:12L 4:4L
8 8. 1202L

tdzFe A Our Suggestion )

ERICE 2N HemmLLL -

Inside diameter of air piping has to be than 6mm.

ERIAERERA T ~ CrEFRZMR » LIP3 K YG 2 2 11 5 B R B S H e IV IE H DIRE -

The source of air have to keep arid the moisture will affect pump fuction.

A FE R B8 211 207 8R3 1207 AR W] LA » {H& b JH SR H BT (NC)

Please use 2/2 or 3/2 way valve-electrically and choose NC.

1 130 Size of High Pressure Hose )

OLO038S OL12S

HERY(RENE) R ERET] HER Y (RE/NE) R ERET]
SIZE(1.D/O.D) WORK PRESSURE(MAX.) SIZE(1.D/O.D) WORK PRESSURE(MAX.)

12/18mm 400kgf/cm? 14/22mm 400kgf/cm?
13/18mm 320kgf/cm? 16/22mm 300kgf/cm?
14/18mm 250kgf/cm? 18/22mm 200kgf/cm?

0LO6GS O L+ili#i

OLOGA OLO38S+uliFi

OL+;H%§

OL08S+HfE
(SIEHlIETT)

02

http://ww.autopower8.com




AU IO POWER MAGHINERY CU

JOLO3S

TD

Limit Switch

MODEL 0!:["108S

4-M10"85

Air Supply Port  Cylinder port
114PT

Air Drain Bolt

N/

o7

\Adjustable Bolt

Fil |
12PT ﬂ e &
j 2
B |
M1 J
o k P
D b
[
O
: 1 1
121 82 70
s 273
Pump Suction Port Cylinder port Tank Port

\ 19 _ 41 _ /
i fo/% |
L[] e
2317 (Include Oil Tank) P | € :
22.5| 27.3
e o —E |
i o
- 16-d ]
\ Y
L
e =18 Installation Dimensions ) é} O o
Cylinder port B 41 3 Depth E
@12~024 \ - } / 4-M10*18 al o
@j/ “ Ll [© &
> D s : ~
oy E [
Unit:mm
@ @ \ : AT, Model A 3 C D L d VOLUME
OL08s-| |-| |-|1 206 | 230 | 50 | 100 | 225 | @11 1.2L
FPump Suction PDrt/ 205 | 273 \ Tank Port [
Ze-011 e = 318~023 OL08s-| |-| |-14] | 285 | 310 | 80 | 150 | 275 | @13 40L
OL08S-| |-| |-|8] | 355 | 380 | 130 | 200 | 325 | @13 8.0L
RIS BT E TS EEHERTEE mrers | BRERER
Releasing Flow Rate Area of Orifice Pressure Setting Range O ———— Air Supply
(cm?/sec) (cm?) (kgf/cm?) 9 (kgf/cm?)
OL08S 117 15500 0.7 150~250
OL08S 107 13000 0.5 210~400
OL08S 137 11500 0.4 270~450
OL08S 807 13000 0.5 250~400
OL08S 837 11500 0.4 270~450 IWERINTE 3.5
OLO8S 707 13000 0.5 250~400 Spring adjust
OL08S 737 11500 0.4 270~450
OL08S 113 18000 0.7 210~400
OL08S 813 18000 0 o 270~450
OL08S 713 18000 0.7 270~450

oilﬂoaA MODEL

=;MF&(Include Oil Tank)

Limit Switch Air Drain Bolt
4-M10"85 \ /
3 |
Cylinder port ﬂ b,
12PT N Jéﬂ mp
{ \Q g
D —
- [
-_____-—-—'_._._._._F.-'-FH
_[ __—____.—-—-""'_H’H-
- 121 B 82 s 70 -
273 _
Pump Suction Port Cylinder port Tank Port
\ 19 41 /
e L=
m L
€B L A i
L2 =3
EBF py Air Supply Port
Y 1/4PT
NN}
22.5| 27.3
-
(T =
B 0
16-d L ,

L
e w=1a] Installation Dimensions ) é> O &
Cylinder port ” 41 3 Depth E
@12~@24 \ - - / 4-M10*18 al o
Q:}j I 1 @ @ @
n Q
6 2 i ; i
-= B =
Unit:mm
D B \ ' B Model Al B |l c| b | E| 4 |voLmE
OLO8A-| |-| |-|1 206 | 230 | 50 | 100 | 225 | @11 1i2:l:
Pump Suction Fnrt/ - 205 | 273 \ Tank Port |
e~ = P18~023 OLO8A-| |-| |-|4) | 285 | 310 | 80 | 150 | 275 | ©13 4.0L
OLO8A-| |-| |-|8] | 355 | 380 | 130 | 200 | 325 | @13 8.0L
- AR HIRILER BEEE R —— TR
M:{ZIZ):DEL Releasing Flow Rate Area of Orifice Pressure Setting Range I Air Supply
(cm?/sec) (cm?) (kgf/cm?) 9 (kgf/cm?)
OLO8A 117 15500 0.7 150~250 Air prssre x 50 ratio
OLO8A 107 13000 0.5 210~350 Air prssre x 70 ratio
OLO8A 137 11500 0.4 270~450 Air prssre x 90 ratio
OLO8A 807 13000 0.5 210~350 Air prssre x 70 ratio 3~5
OLOBA 837 11500 0.4 270~450 Air prssre x 90 ratio
OLO8A 707 13000 0.5 280~350 Air prssre x /0 ratio
OLOBA 737 11500 0.4 270~450 Air prssre x 90 ratio

BRI 2000 (Z)LL T Suitable for press tons:200 tons & down.

[P ESH Hydraulic Qil:ISO-VG-32 or equivalent.
03

hitp: //www.autopower8.com

& AR : 20008 (=) LT Suitable for press tons:200 tons & down.
{5 A3 B Hydraulic Oil:ISO-VG-32 or equivalent.

04

http://ww.autopower8.com




< =7

ey U frepeaprapmp 0
OL12Ako0EL S U RBOSEERAS

J POWER MIACGHINERY GO LID

MODEL 0L lfzs

AU IO POWER MACGHINERY GO, LID

JOLI12S

Limit Switch Limit Switch

JOLI12A
4-M12*110 Air Drain Bolt 4-M12*110 Air Drain Bolt

Air Supply Port  Cylinder port / g . - Air Supply Port  Cylinder port /

1/4PT 34PT [ ! | 1/4PT 3/4PT ] -
B i B ) b
T | (11
o i Te] —D (&) w
oy | oy |
;| T o —
\Q I \Q —;”/d =
\ = —
Y Y
_ 148 | 109 | 90 | 148 L 109 93
& 345 _ Adjustable Bolt B 350 B
Pump Suction Port Tank Port
Uump Suct Pump Suction Port  20.5 58 Tank Port

205 58
\ © O

. @ g :E:] Z5W#&(Include Oil Tank)
© 4

58 2

B
!

=878 (Include Oil Tank)

WA

|

58 2

o o

©
rou . w=1aall Installation Dimensinns) @ } e =1adl Installation nimenginng) q ey Q —;?ﬁ |

16-d 16-d
3 58 Depth \ NN 3 58 Depth \ R

=1 / 4-M12*18 / 4-M12*18

(D u

g L
@ @\ " " 355 @ @\ : — 355

380 380

Ca
e)
&

G a
ne)

&
@ :

200
130
200
130

©
&
N
&
©
&

[

1
A
Y

[ |

ik - Pump Suction Port / 58 \ Tank Port
@B10~E14 @20~E25 @10~014 B20~25

Pump Suction PDrt/ 58 \ Tank Port

R BIAELER BRERIRERE | mopesx | ERERED = R BRI E EREE RN EEE Eness | BRERES
Releasing Flow Rate Area of Orifice Pressure Setting Range N Air Supply M:(IJ:DEL Releasing Flow Rate Area of Orifice Pressure Setting Range N Ty Air Supply
(cm?/sec) (cm?) (kgf/cm?) 9 (kgf/cm?) (cm?/sec) (cm?) (kgf/cm?) 9 (kgf/cm?)
OL12S 117 39000 1.7 150~250 OL12A 115 39000 1.7 150~250 Air prssre x 50 ratio
OL12S 107 31000 Tl 210~350 OL12A 105 31000 T2 210~350 Air prssre x 70 ratio
. | R— |
OL12S 137 27000 0.9 270~450 Si;!i'::;tan:just 3~5 OL12A 135 27000 0.9 270~450 Air prssre x 90 ratio 3~5
OL12S 707 31000 1.2 250~400 OL12A 705 31000 1.2 250~400 Air prssre x /0 ratio
OL12S 737 27000 0.9 270~450 OL12A 735 27000 0.9 270~450 Air prssre x 90 ratio
8 AR 20008(F)2A B Suitable for press tons:200 tons & down. 18 AR :200M8(S)2A T Suitable for press tons:200 tons & down.
(P& EH Hydraulic Qil:ISO-VG-32 or equivalent. { AR Bl Hydraulic Oil:ISO-VG-32 or equivalent.
05 06

hitp: //www.autopower8.com http://ww.autopower8.com




AU O FOWER VIACGHINERY GO,

LD

2222 OL.06S/0OL.06A

o1 q=1a8f Installation Dimensions )

Limit Switch Air Drain Bolt
4-M10*85 /
Air Supply Port  Cylinder port i T 1
1/4PT 112PT ﬁ :D:_ @
: |
l l |
gl 5 i S
C' T
[ =
e []
p U
1 Y
- 88.5 | 93 | 70 _
251.5 Adjustable Bolt
Pump Suction Port Cylinder port Tank Port

57

30 41 /

-—3

T |ese
+ | @
22.5 ETEL
3

pra— j;ﬁ P

. 39

Ovo

103

Cylinder port 41 3 Depth t 1
@12~324 \ |" / 4-M10*18 ] o | o I
| - 251.5 _
I
30 _ 4
€ " = —
T ST
D D T S E]\
_[ ﬂ‘ Air Supply Port
Pump Suction Port / 20.5 27.3 \ Tank Port EB - 114PT
@8~@11 @18~@23 _
Ay BN E HiliA SLER HERERIEEEE BHGEh BRZERET
M:DEDEL Releasing Flow Rate Area of Orifice Pressure Setting Range B e Air Supply
(cm?/sec) (cm?) (kgf/cm?) 9 (kgf/cm?)
OL06S 107 13000 0.5 210~400
OLO06S 137 11500 0.4 270~450 oty
: + 3~5
OL06S 707 13000 0.5 250~400 SiPrrG s st
OLO06S 737 11500 0.4 270~450
OLO6A 107 13000 0.5 210~400 Air prssre x 70 ratio
OLO6A 137 11500 0.4 270~450 Air prssre x 90 ratio 35
OLO06A 707 13000 0.5 250~400 Air prssre x 70 ratio
OLO6A 737 11500 0.4 270~450 Air prssre x 90 ratio

B 200 (=)LL T Suitable for press tons:200 tons & down.
» {FFEEEH Hydraulic Oil:1ISO-VG-32 or equivalent.

07

hitp: //www.autopower8.com

Emm%SE LECTION BASIS

== int 8 Selection Basis)

SRR 228 SPECIFICATION & PARAMETER OF PRESS

F SHEREET] (tons)
Press Rated Capacity

S HFKBIRITIE (mm)
Stroke Length

N JREKBRITIZEE! (spm)
Stroke Per Minute

H BEJISBENIE (mm)

Rated [onnage Point

A BB ERS

Cylinder area
=(nxD2/4)xn(cm?)

P BRI ERYHEET] (OL08S Model)

Hydraulic pressure setting of overload

=F x 1.1 x 1000 / A (kgf/lcm?)

Pa BEIEERZERET] (OLOSA Model)

Air pressure setting of overload
= P/ m (kgf/lcm?)

D RbEmE

BEfE (cm)

Cylinder Diameter

n ;BEHE

B (&)

h jELEHE

Cylinder Number

Cylinder Stroke

m EBRERIEE

77

UML) . AN

=

AUTO POWER MACHINERY CO.; L

ZSEZE(TIE (mm)

Ratio Of Overload Hydraulic Pressure

=+ & ##E CALCULATION FORMULAS FOR MODEL SELECTION

V Bt MNERE
Drop speed of slide

=NJ/SH -H2/87.5 (cm/sec)
HBEE SRR HRILENE

Releasing flow rate

=AxV (cm3/sec)

HFEIREE

Volume of oil tank
= 4 xAxh (cm?d)

= Releasing flow rate (Q) of overload protector, which you choose has to be more than of cylinder volume.

If releasing flow rate isn't enough, please use two sets of overload protector.

€] Example ) model: OL08S(A)

F =110tons
S =180 mm
N =60 SPM
H =6 mm
D =22cm
n =1pc

n =1cm

\%m‘

I 1
A A A A AT A A A TS

b NN NN

»al

imiEaie

D
1 1 o ¢ ki
i

g

J lesm

& ‘ &

q o |
OVERLOAD

A =(r222/4)x1

= 380 (cm?)
P =110x1.1 x 1000/ 380
= 318 (kgf/cm?)-------OL08S modle
Pa =318/70
= 4.54 (kgf/cm?2) OLO8A modle

> 1520 (cm?)

Q =380 x22.1
= 8398 (cm?3/sec)
L >4x380x1

V =60/180x6-62/87.5
= 22.1 (cm/sec)

08

http://ww.autopower8.com




// ﬁj%&
d

SLIDE LOCK I I SELECTION BASIS mﬁb%ﬁﬁmﬂﬁ
POWER MACGRHINERY GO LID ﬂwﬁllﬂ% mﬁﬂgﬁpll|ﬁm AU IO FOWER VMIAGHINERY GO L
1B 2 SLIDE LOCK —
LTI v 3ol v A P SO0 (2] 9 L — AT 4 |
Application high speed press-slide lock single circuit control
=
TABYZR 1R (BT 2R 1R 8n
TA DIE CLAMP DIE BrTIESRAFRIES
Mndcl Scleetinn) (2|3 ol =
1 @l E T PLO106~08 HPL0106~08
. ITHHEETD iy L2 -
593\ MODEL Hydraulic Pressure  kgf/cm? Flow (cc/min) cc i ;
PLO106 250 900 %a P
PLO107 210 1000 A sl
Lm P
PLO108 160 1300 ED“ T: 5
HPLO106 420 1000 L . o
HPLO107 320 1300 V‘l—— O EZ e T, j
HPLO108 250 1500 ( ~e i' ]
RPES O:Nome REIEERS ' \ k 0 a
\V : b
GELiSiEps 1:110V 2:220V 3:DC24 = @ ® J 3
iipsulVienSM L1 L2 H | H1  H2 | P1 [ D2 | A @_% B TBEYZRIEES (EEMRT\) REE
PO 575 | 250 | 260 | 40 | 100 | 200 | 80 | 150 TB DIE CLAMP BOLSTER EXTENSION SERIES
HPLO1 275 | 250 | 300 | 80 | 150 | 210 | 80 | 160 = <~
2 FHE S iR E e Emﬁﬁﬁﬁgﬁg
B 12 2 B 2 i RR G o (et
Hydraulic press uresupply for feeder
$ S
\ 353
] “ﬁﬁﬂ%f‘j|g )
==l "'*"“
A L=l s RETHEREETT EIIRIERE
= e —— AIR DRIVE HYDRAULIC PUMP UNIT ELECTRONIC CONTROL OPERATION PANEL
ii5an: vl Model Selection ) PF10-2E-|1 ©
1 BIRIEE 1:110V 2:220V 3:DC24 L ”
09 10
hitp: //www.autopower8.com http://mww.autopower8.com




OVERLOAD PROTECTOR

EEYAL

WERAT

AUTO POWER MACHINERY CO., LTD.
HRERFRERE SRPKEERE IR - BEEERERERE ERISERDILRESRR

=) §

B I WM AR AT

TEL : 886-4-8365172  FAX : 886-4-8367451
ik - SEEE(EREMEBKE—ER58051645
E-mail : auto.power8@msa.hinet.net

Http://www.autopower-machinery.com.tw

KPE:

BEREMEINLESHREARAT]
TEL : 13798880177 FAX : 0660-6887636
il ERELWEMESRENAETCHEZNAKER



	P1+P2-0618
	P3+P4-0618
	P5+P6-0618
	P7+P8-0618
	P9+P10-0726
	封底
	超負荷裝置封面

